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Clues for Logic Puzzle: S910AV
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. Quinn's shirt isn't a size 6.

2. Ingram's shirt is 4 sizes larger than number 30.

3. Ingram's shirt isn't number 19.

4. Ellison's jersey isn't number 19.

5. Number 37 is either Oliver's shirt or the size 12 jersey.
6. Nelson's shirt is 3 sizes larger than number 30.

7. The size 6 shirt isn't number 24.

8. The orange shirt is 1 size smaller than Kirby's jersey.

9. Ingram's jersey isn't blue.

10. Moore's jersey is 2 sizes larger than number 30.

11. The orange shirt is 3 sizes smaller than the white shirt.
12. Number 38 isn't orange.

13. Oliver's shirt isn't purple.

14. Ingram's shirt isn't purple.

15. Of Oliver's jersey and Nelson's jersey, one is number 24 and the other is a size 10.
16. The green jersey is 3 sizes larger than number 42.

17. Number 30 is black.
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